Multiple Choice Questions
1. What are the prevalence rates of Cerebral Palsy in South Africa?
a. 0.2-0.3%
b. 2-3%
c. 1-8%
d. 5-12%

2. Where was this study conducted?
a. Umvoti district, KZN
b. Umzinyathi district, KZN
c. Ilembe distric, KZN
d. Ethekwini district, KZN

3. What were the main theme(s) identified that contributed to rural children with CP’s QOL?
a. Activity participation
b. Physical well-being
c. Family and community
d. All of the above

4. How do rural people’s view of health and QOL differ from their urban peers?
a. Rural people put more emphasis on money
b. Urban people put more emphasis on money
c. Rural people put more emphasis on function and independence
d. Urban people put more emphasis on function and independence

5. Why is it difficult for parents to treat their children with CP’s pain?
a. They don’t have access to the correct medicine
b. They are not trained in pain management
c. Communication abilities make it difficult to ascertain the location and cause of the pain
d. Parents don’t have difficulty treating their children’s pain

6. Why do most of these children with CP not attend school?
a. There are no special schools in the area
b. The schools in their area are not equipped to teach children with CP
c. Parents are overprotective of their children 
d. All of the above

7. Children with CP in rural areas do not have opportunities to play
a. True
b. False

8. Under family and community, what was found to have the biggest impact on the children with CP’s QOL?
a. Caregivers’ abilities and beliefs
b. Communication and pain
c. Learning and schooling
d. All of the above

9. What is the OT’s role in improving the QOL of children with CP?
a. Caregiver training and support
b. Advocacy and education
c. Practical stimulation and inclusion activities
d. All of the above

10. Why is it difficult to implement change for rural children with CP on a large scale?
a. Lack of interest
b. Limited resources
c. Not enough literature
d. The problems are too complex




